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—+ ELECTRICAL CHARACTERISTICS
2.1  Absolute Maximum Ratings
Parameter Svmbol Min Tvp Max Unit
Supply Voltage (1) Vssl -3.0 -1.5 -1.2 \Y
Oscillation Frequency Fosc — 32.768 — KHz
Booster Capacitor C1 -—- 0.1 --- uF
Capacitor Between Vdd — Vss2 C2 — 0.1 --- uF
Capacitor Between Vdd — Vss3 C3 — 0.1 — uF
2.2 Operating Conditions
Parameter Svmbol Min Max Unit
Supply Voltage (1) Vssl -3.0 +0.2 \Y
Supply Voltage (2) Vss2, Vss3 -0.5 +0.2 A%
Vssl Terminal Voltage Vioi VSS1-0.2 +0.2 A%
Vss2 Terminal Voltage Vin VSS82-0.2 +0.2 A%
Vss3 Terminal Voltage Vios VSS3-0.2 +0.2 A%
Operating temperature Topr -20 70 °C
Storage temperature Tstg -40 125 °C
*  Ground is VDD (=0V)
*  Supply Voltage should be [Vssl| </=|Vss2| </=|Vss3|
2.3  DC Electrical Characteristics
Parameter Symbol Min. Typ. | Max. Unit Condition Terminals
“H” Level input voltage VIH -0.2 — 0 A\ Input 0-7
“L” Level input voltage VIL -1.5 — -1.3 \Y Input 0-7
“H” Level input Current IIH1 - - 0.5 uA VIH1 =0V Input 0-7
ITH2 2.0 — 20 V1H2 =0V
“L” Level input Current I -0.5 — -—- uA VIL=1.5V Input 0-7
“H” Level output Current IOH1 - - -200 uA VOHI1 = 0.5V ALOUTI. 2
IOH2 — — -1.0 VOHI2 = 0.5V
“L” Level output Current I0OL1 200 - -5.0 uA VOL1 =1.0V ALOUTIL. 2
1012 2.0 — — VOL2 =1.0V
Oscillation starting voltage VSTA — - -1.45 \% TSTA </= 10 Sec Resonance
Common output current IOH3 --- --- -5.0 uA VOH3 =-0.05V COM1.2.3
10L3 5.0 — — VOL3 =-0.05V
Common output current 1014 5.0 --- o uA VOL4 =-445V COM 1.2.3
Segment output current IOH4 --- --- -1.0 uA VOE4 =-005V SEG 0-26
I0L5 1.0 — - VOL5 =-2.95V
Segment output current 10L6 1.0 --- -—- uA VOLS5 =-295V SEG 0-26
Booster output voltage VSS3 4.5 _— 4.1 V 1MQ load is connected between VDD — VSS2
Booster output voltage VSS2 3.0 — 2.8 Vv 1MQ load is connected between VDD — VSS3
Booster ripple voltage VRP1 - —_— 0.2 \Y 1MQ load is connected between VDD — VSS2
Booster ripple voltage VRP2 - _— 0.2 \Y 1MQ load is connected Between VDD — VSS3
Operation current ISS1 - 2.5 — uA No load base Time Mode

Note: 1)

Ground Vdd =0V

2) Supply Voltage should be [Vssl| </=|Vss2| </=|Vss3|
3) Current flowing into IC is positive and flowing out of IC is negative.

4) Crystal oscillation.

5) Operation current may differ depending on the duty.
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BO AA. AB. AC. AD. AE.
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BJ. BK. BL. AJ. AK. AL.
BF. BG. BH. BI. AM. AN,
BA. BB. BC. BD. BE AO

I * T 4HYNCPIN -

PIN 1L | 2 | 314 (51678 9 |1011[12]13[14]15]16

COM-SEG | c1 C2 | SO | S1 | S2|S3|S4|S5] S6 | S7 | S8 |S9 |S10]S11|SI12]|S13

9 29
COM2 2 1A | 1B | 2A | 2B 3F | 3A | 3B | 4F | 4A SA | 5B
COMI1 Cl IF|1G | 2F | 2G | 2C | COL | 3G | 3C | 4E | 4G | 4B | 5F | 5G
COM3 ID|1E | 1C | 2E | 2D | £\ 3E | 3D | 4D | 4C | P | SE | 5D

PIN 17 18 19120121 122123 124 | 25 |26 |27 |28 |29 | 30 | 31
COM-SEG | s14 | S15 |S16|S17|S18 (519|520 | S21 | S22 | s22 | $23 | $24 | S25 | S26 | C3
com2 |1100] 6A | 6B |AaA|AB|AC|AD|AE| <7 |BE|BD|BC|BB|BA

COM1 6F 6G | 6C | AF | AG| AH | Al | AO BO | BI | BH | BG | BF
COM3 5C 6E | 6D | A] | AK | AL | AN | AM BM BN | BL | BK | BJ | C3
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PR A A Vdd
£ X Y ) b 1 X Y
1 SEG18 1520.0 | 1367.6 30 30 0.0 212.6
2 SEG17 1520.0 | 14726 31 Vee 0.0 107.6
3 SEG16 1495.0 | 1580.0 32 32 25.0 0.0
4 SEGI5 1390.0 | 1580.0 33 33 130.0 0.0
5 SEG14 1285.0 | 1580.0 34 34 235.0 0.0
6 SEGI3 1180.0 | 1580.0 35 35 340.0 0.0
7 SEGI12 1075.0 | 1580.0 36 36 445.0 0.0
8 SEG11 970.0 | 1580.0 37 37 550.0 0.0
9 SEGI10 865.0 | 1580.0 38 38 655.0 0.0
10 SEG9 760.0 | 1580.0 39 39 760.0 0.0
11 SEGS 655.0 | 1580.0 40 Vss 865.0 0.0
12 SEG7 550.0 | 1580.0 41 41 970.0 0.0
13 SEG6 4450 | 1580.0 42 42 1075.0 0.0
14 SEG5 340.0 | 1580.0 43 Vee 1180.0 0.0
15 SEG4 2350 | 1580.0 44 44 1285.0 0.0
16 SEG3 130.0 | 1580.0 45 45 1390.0 0.0
17 SEG2 25.0 1580.0 46 46 1495.0 0.0
18 SEG1 0.0 1467.6 47 47 1520.0 107.6
19 SEGO 0.0 1367.6 48 48 15200 | 212.6
20 COM2 0.0 1262.6 49 49 15200 | 317.6
21 COMI 0.0 1157.6 50 COM3 15200 | 4226
22 22 0.0 1052.6 51 SEG26 | 15200 | 527.6
23 23 0.0 947.6 52 SEG25 | 15200 | 632.6
24 24 0.0 842.6 53 SEG24 | 15200 | 737.6
25 25 0.0 737.6 54 SEG23 15200 | 842.6
26 26 0.0 632.6 55 SEG22 | 15200 | 947.6
27 27 0.0 5276 56 SEG21 15200 | 1052.6
28 28 0.0 422.6 57 SEG20 | 15200 | 1157.6
29 29 0.0 317.6 58 SEGI9 | 15200 | 1262.6




